
V-Twin Mfg.
Chrome Adjustable Center Stand 

For use on 2009 – Up Touring Models
VT Part No. 16-1110

This is a custom application and rider safety depends on proper installation. This product should only be installed by 
a knowledgeable and trained motorcycle technician. V-Twin Mfg. accepts no responsibility for improper installation.

NOTE: Use Locktite on all hardware.

Installation Instructions:
1. Place the rear nut plate bracket (1) over the rear of the motorcycle frame cross member with the curved section toward the rear of the motorcycle. 

See Figure 1. 
2. Place the front nut plate (2) over the front center hole in the rear frame cross member. See figure 2.
3. Position the display stand (3) under the motorcycle with the feet toward the rear. Holding the Display stand under the motorcycle, over the holes 

install  the rear two  1/4-20 x 5/8” screws (5) to the rear nut plate bracket (1). 
4.  Install a 1/4-20 x 1/2” screw (4) in the front display stand hole, through the cross member into the front nut plate (2).See figure 3.
5. Torque the 1/4-20 screws to 75-95 in-lbs.
6. After completing assembly be sure to grease stand use the grease fitting located on the back side of the stand. 

Adjusting the stand:
The Stand may be adjusted so the rear tire is on or off the ground. The feet can be adjusted independently to insure the motorcycle is vertical. See Figure 4.

Warning: Adjustment to the feet should be accomplished with the feet retracted to prevent the motorcycle from falling.
1. When adjusting the stand make certain the flange side of the feet (6)  is facing forward. A minimum of ¾ inch thread must be engaged into the stand. 

See Figure 4.
2. Adjust the feet to properly support the motorcycle level. The feet may be adjusted to raise the back tire slightly off the ground if desired. Lock the Jam 

nuts (7). See Figure 4

Warning: When using the Display Stand do NOT park the motorcycle pointing downhill.  The motorcycle may roll  off the stand causing serious injury or  
damage. 
Warning: DO NOT START the motorcycle when using the stand.

Parts List
Item Description Qty

1 Rear nut plate bracket 1

2 Front nut plate 1

3 Display stand 1

4 1/4-20 x 1/2” screws 1

5 1/4-20 x  5/8” screws 2

6 Flange feet 2

7 Jam Nuts 2

Figure 1 Figure 2

Front of Motorcycle

  Front Nut Plate (2)

Rear Nut Plate (1)

Rear of Motorcycle



Figure 3 Figure 4

Copyright©11/2009
Tedd Cycle, Inc.

 7  5

4

  2

 1

  3

 6

Front of 
Motorcycle Flange Feet (6)

 Jam Nut (7)


